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7 100kN/mM%EBZ 5 - -~ - -|3mEFBZD -~ - -] 100kN/ Mm% % % - -~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 6.70 84.67 | FnS | 000 ~ 670 1.95 9.84 Thst 1.00 | 5.00 ~ 880 84.67 | ThUS | 5,00 ~ 880 1.95 9.84
2 100kN/mM%BZ 5 - -~ - -|3mEFBZD -~ -] 100kN/ Mm% % % -~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 5.99 75.07 | FnLS | 0o0 ~ 599 1.97 9.95 Thst 1.00 | 6.00 ~ 7.60 75.07 | =nLS | 6.00 ~ 7.60)| 1.97 9.985
3 100kN/mM%EBZ 5 - -~ - -|3mEFBZD ~ -] 100kN/ Mm% % % ~ -|3mZiBZ D -~ - - -
s 1.00 | 0.00 ~ 6.61 83.36 | FnSt | 000 ~ 661 1.95 9.84 Thst 1.00 | 6.00 ~ 860 83.36 | ThS | 5,00 ~ 860 1.95 9.84
4 100kN/mM%E{BZ % - -~ - -|3mEFBZD ~ -] 100kN/ Mm% % % ~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 561 70.12 | FnS | 0oo ~ 561|207 10.45 Thst 1.00 | 6.00 ~ 7.60 70.12 | =nLSY | 6.00 ~ 7.60)| 2.07 10.45
5 100kN/mM%EBZ 5 - -~ - -|3mEFBZD ~ -] 100kN/ Mm% % % ~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 429 5354 | =N | 000 ~ 429 2.14 10.80 Thlst 1.00 | 5.00 ~ b6.80 53.64 | ThS | 6,00 ~ 580 2.14 10.80
P 100kN/mM%#BZ 5 - -~ - -|3mEFBZD ~ -] 100kN/m#%#8Z% % ~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 426 5322 | #nS | 000 ~ 4.26| 2.04 10.32 Tt 1.00 | 5.00 ~ 5.20 53.22 | =hs | 6,00 ~ 520 2.04 10.32
- 100kN/ Mm% Z 5 - -~ - -|3mEEBZD ~ -| 100kN/mi%#8Z % ~ -|3m#EEZ S -~ - - -
zhnLst 1.00 | 0.00 ~ 4.96 61.83 | Thst | 0oo ~ 496 | 1.93 977 zhs 1.00 | 6.00 ~ b6.70 61.83 | TnS | 6.00 ~ 670 1.93 9.77
3 100kN/ Mm% Z 5 - -~ - -|3mEEBZD ~ -| 100kN/mi%#8Z % ~ -|3m#EEZ S -~ - - -
zhnLst 1.00 | 0.00 ~ 395 49.55 | =ns | 0oo ~ 395|221 11.19 zhs 1.00 | 6.00 ~ b6.80 49.55 | =hs | 6,00 ~ 680 | 2.21 11.19
9 100kN/ Mm% Z 5 - -~ - -|3mEEBZD ~ -| 100kN/mi%#8Z % ~ -|3mEEZ S -~ - - -
Ths - -~ - st ~ ZhLst ~ Ths -~ - - -
10 100kN/ Mm% Z 5 - -~ - -|3mEEBZD ~ -| 100kN/mi%#8Z % ~ -|3m#EEZ S -~ - - -
Ths - -~ - ZzhLst ~ ZzhLst ~ zhs -~ - - -
11 100kN/ Mm% Z 5 - -~ - -|3mEBZD ~ -| 100kN/mi%#8Z % ~ -|3m#EEZ S -~ - - -
Ths - -~ - ZhLst ~ ZhLst ~ Ths -~ - - -
12 100kN/ Mm% Z 5 - -~ - -|3mEEBZD ~ -| 100kN/mi%#8Z % ~ -|3m#EEZ S -~ - - -
Ths - -~ - ZzhLst ~ ZzhLst ~ zhs -~ - - -
13 100kN/ Mm% Z 5 - -~ - -|3mEBZD ~ -| 100kN/mi%#8Z % ~ -|3m#EEZ S -~ - - -
Ths - -~ - st ~ ZhLst ~ zhs -~ - - -
14 100kN/ Mm% A5 - -~ - -|3mEEBZD ~ -| 100kN/m%#8Z % ~ -|3m#EEZ S -~ - - -
Ths - -~ - st ~ st ~ zhs -~ - - -
15 100kN/ Mm% Z 5 - -~ - -|3mEEBZD ~ -| 100kN/mi%#8Z % ~ -|3m#EEZ S -~ - - -
zhst - -~ - ZhnLst ~ ZhnLst ~ zhs -~ - -
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16 100kN/mM%EBZ 5 - -~ - -|3mEFBZD -~ - 100kN/ Mm% % % - -~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 519 64.71 | FnLSY | 000 ~ o000 1.78 8.985 Thst 1.00 | 5.00 ~ 5.60 64.71 | TN | 6.00 ~ 560 1.78 8.985
17 100kN/mM%BZ 5 - -~ - -|3mEFBZD -~ 100kN/ Mm% % % -~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 5.65 70.57 | S | 0o0 ~ 565 1.84 929 st 1.00 | 5.00 ~ 6.40 70.57 | TN | 6,00 ~ 6.40 | 1.584 9.29
18 100kN/mM%EBZ 5 - -~ - -|3mEFBZD ~ 100kN/ Mm% % % ~ -|3mZiBZ D -~ - - -
s 1.00 | 0.00 ~ 591 73.98 | #nst | ooo ~ ooo| 1.78 8.99 Thst 1.00 | 6.00 ~ 6.70 73.98 | TnLS | .00 ~ 6.70| 1.78 8.99
19 100kN/m%EBZ5 | 100|000 ~ 017 10247 |3mEBZS ~ 100kN/mM%&#z25 | 1.00 | 11.62 ~ 1220 10247 |3m%E#zZ5 -~ - - -
s 1.00 | 017 ~ 795 100.00 | #nLSy | 0.00 ~ 7.95| 1.99 10.06 Thst 1.00 | 6.00 ~ 1162 100.00 | =nLSt | 6.00 ~ 1220| 1.99 10.06
2 100kN/m%E#8z5 | 1.00 | 000 ~ 057 10842 |3mE#Bz% ~ 100kN/mM%&#z25 | 1.00 | 1063 ~ 1230 10842 |3m%E#z5 -~ - - -
s 1.00 | 0.567 ~ 835 100.00 | #nLSy | 000 ~ 835|212 10.72 Thlst 1.00 | 6.00 ~ 1063 100.00 | =nLS | 6.00 ~ 1230|212 10.72
21 100kN/mM%#BZ 5 - -~ - -|3mEFBZD ~ 100kN/ Mm% % % ~ -|3mZEiBZ D -~ - - -
s 1.00 | 0oo ~ 770 9872 | EnS | 000 ~ 7.70| 2.29 11.56 Thist 1.00 | 6.00 ~ 10.50 98.72 | =S | 5.00 ~ 1050 2.29 11.56
29 100kN/m%E %% | 1.00 | 000 ~ 033 10493 |3mEBZ% ~ -1 100kN/mM%&#z25 | 1.00 | 1061 ~ 1150 104.93 |3m%E#Z3 -~ - - -
Thilst 1001033 ~ 812| 100.00| Fhbs | 0oo ~ 812 2.25 11.37 zhs 1.00 | 500 ~ 1061 100.00 | #nst | .00 ~ 1150] 225 11.37
23 100kN/ Mm% Z 5 - -~ - -|3mEEBZD ~ -| 100kN/mi%#8Z % ~ -|3m#EEZ S -~ - - -
zhnLst 1.00 | 0.00 ~ 7.27 92.63 | =nst | 0oo ~ 000|177 8.97 zhs 1.00 | 6.00 ~ 930 92.63 | #=hs | 6,00 ~ 930\ 1.77 8.97
24 100kN/ Mm% Z 5 - -~ - -|3mEEBZD ~ 100kN/mM%E#BZ 5 ~ -|3mEEZ S -~ - - -
ThnLst 1.00 | 0.00 ~ 751 96.05 | =nst | 0oo ~ o000 1.73 873 zhst 1.00 | 6.00 ~ 990 96.05 | #hLst | 65,00 ~ 9.90| 1.73 873
25 100kN/m%E %% | 1.00 | 000 ~ 036 10526 |3mE{BZ% ~ 100kN/m%x#8z25 | 1.00 | 1099 ~ 1210 105.26 |3m%E#Z5 -~ - - -
Thilst 1.00 | 036 ~ 814 100.00 | =05t | 000 ~ 814 | 2.05 10.37 Fhst 100500 ~ 1099 100.00| FnLst | 65,00 ~ 1210 2.05 10.37
2% 100kN/m%E %% | 1.00 | 000 ~ 062 10923 |3mE{EBZ2% ~ -] 100kN/mM%&#Bz25 | 1.00 | 11.94 ~ 1450 109.23 |3mExE#Z5 -~ - - -
ThLst 1.00 |1 0.62 ~ 841 100.00 | #=hst | 0oo ~ 841 | 1.97 9.95 zhst 1.00 | 6.00 ~ 1194 100.00 | =nLSt | 6.00 ~ 1450 1.97 9.95
27 100kN/m%E %% | 1.00 | 000 ~ 032 10478 |3mE{BZ3% ~ 100kN/m%x#8z25 | 1.00 | 11.56 ~ 1270 104.78 |3m%x#Z5 -~ - - -
ThnLst 1.00 1032 ~ 811 100.00 | =hst | 0oo ~ 811 1.99 10.08 Fhst 1.00 | 6.00 ~ 1156 100.00 | =nLSt | 6.00 ~ 1270| 1.99 10.08
28 100kN/ Mm% Z 5 - -~ - -|3mEBZD ~ 100kN/mM%E#BZ 5 ~ -|3m#EEZ S -~ - - -
ThLst 1.00 | 0.00 ~ 7.47 95.43 | =ns | 000 ~ 747 1.93 9.76 Fhst 1.00 | 6,00 ~ 1150 95.43 | =hst | 5.00 ~ 1150 1.93 9.76
100kN/ Mm% A5 ~ 3mEHBAD ~ 100kN/mM%EHBZ 5 ~ ImERZD ~
Ths ~ st ~ st ~ zhs ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#BZ 5 ~ ImERZD ~
zhst ~ ZhnLst ~ ZhnLst ~ zhs ~




